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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.

Detail schedule for submission of assignment for the
BDP Term End Examination December-2019 & June-2020

1. Date of Publication : 14/02/2020

2. Last date of Submission of answer script by the student to the study :07/03/2020
centre

3. Last date of Submission of marks by the examiner to the study centre : 08/04 /2020

4. Date of evaluated answer scripts distribution by the study centre to

the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No change / correction of assignment marks will be

accepted after the said five days. :18/04/2020
S. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :20/04 /2020
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Answer any two questions :

1. @G0 EEESIEENG ABC/ abe-a3 AT @6 &R @IMISTE0IG abe/ abe FEFAR TOIET 2 |
1280-T =miey Sfet Rrafre werret ey fefo ==

ABC — 413 Abc — 170

abc — 426 aBC — 161

ABc — 6 AbC — 47

abC — 3 aBc — 54
A, B &8 C SNl /st @92 «{ie=Ifi<s 799 (9| Coincidence @< interference e
PP | 2+6+2
A cross is made between a heterozygote ABC/abc and a recessive homozygote abc/abc.
1280 progenesis were analyzed, giving the results below. Determine the order of three
genes A, Band C. Mention their distance and calculate coincidence and interference.

ABC — 413 Abc — 170

abc — 426 aBC — 161

ABc — 6 AbC — 47

abC — 3 aBc — 54

2. GRS, SHETHAEAES a9t SHFHbHE@e e F @RIN 2 T eerfen SfEee
SIETITRICER GfN<el SHIRAITR IR e | (2x3)+4
What are meant by autopolyploidy, allopolyploidy and amphidiploidy ? Explain with
suitable example the role of allopolyploidy in origin of new species.

3.  @PrHIPTeR e oFbed AIfFrale S I | (P IET @PHIR™ (e 9:3:3 ¢ 1
TAATSCE 12:3: 1 @8 9 : 3 : 4-@ oS T 2 Toiyw TuirgtiR UG ARFHIRPIEE iR
A | 2+4+4
State the differences between epistasis and dominance. Name and explain with suitable
examples, the epistatic inheritances which change Mendelian 9 : 3 : 3 : 1 ratio into
12:3:1and 9:3:4 ratios.

4, (SEHLF (S FICE IET 2 Irol@ [T (@FOER SuLiod %7 TR O 3901 e | 2+8

Define genetic code. Describe how different codons were deciphered.

A TE€q / First Answer :
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Answer any three questions :

S.

10.

GRT-GOR FIE ICET ? FPR-CO@N (FITFNNS AT A <[FIT TR TR T | 1+5

What is crossing-over ? Describe in brief the experiment used to prove cytological basis of
crossing-over.

(ST GFTRFI @8 e T F, Reeibizel ¢ feeibRer amsiosf 1§ 2 e

SIS RPEIGIECoR Sl ® R 1:1:1: 1% ? 4+2

What are the F, phenotypic and genotypic ratios of Mendel's monohybrid and dihybrid
crosses ? When is the phenotypic ratio of dihybrid cross 1:1:1:17?

ARGIRIETH eeisifion Tees] ey | Wrosie erelfe qe#9ifs Fel@ (@ wwe] DNA 741 fFafee
R, O IR P | 2+4

What is cytoplasmic inheritance ? Explain how maternal inheritance is controlled by
organellar DNA.

TRIIfeeTel F 2 TAYE CUIRATTR IRSIeeTor Q=ellfl 51 T | 1+5

What is multiple allelism ? Illustrate the concept of multiple allelism with a suitable
example.

q5fo @ Rl I T 2 TIPS PRI Qo T G WRIFTER Sbae 1 F6 |
2+ 4

What are deletion and duplication ? Explain the origin and meiotic behaviour of deletion
and duplication.

Y[ AT TSN (synthetic theory) HRIE TH-CESNAWHE I B | 6

Explain Neo-Darwinism with the help of modern synthetic theory of evolution.

A TE€d / First Answer :
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Answer any four questions :
11.  SHNE-GF TSRS G2 a3 Bl #7137 | 3
Write a note on Lamarckism.
12. e GIRCIIN @ GRICTRG W&y A1y ey ey | 3
State the differences between double trisomy and tetrasomy.
13, THRAPR T @ W)l forecper-«aq #1ef o1 | 3
Explain complete and incomplete linkages with examples.
14. Lac-StR-ag o1 e | 3
Describe lac-operon.
15. (o) ROOER @oib ST =K< eses e Kagd fo | 3
Describe in brief, any one evidence of organic evolution from comparative anatomy.
16. <efimors aeHelfon Toig @pio Bl forg | 3
Write a note on the inheritance of colour blindness.
17.  S[F ALHAFT @R PDlQ ALPAACETT N AL {0 ey | 3
Differentiate between test cross and back cross.
18. GITe apefera sge o7 | 3

Define the different units of gene.

29 T€d / First Answer :
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